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10.

11.

()

( Thomson )

( Millikan )
(A)9.10<10 g
(C)6.43<10 g

1.76<10% C/g
1.60><10""C
(B) 1.10<10 g
(D)2.82<10"''g

12 14
(A) *Mg (B) Mg (C) 14Mg (D) **Mg
(A) Ca (B) Rb (C) Sn (D) Br
(A) KOH (B) NaHSO,
(C) HCI (D) CaO
5.00><10"s™!
( =6.60<10"*J «s)
(A) 7.58><10"7 J (B) 6.28><10'°J
(C) 1.32><10 7 (D) 33010 ]
(A) CH,Cl, (B) H-NNH>
(C) CH3CH; (D) HuS
(A) Fs (B) Cl, (C) Bra D) I
HCIO,
(A) ClO4 (B) ClO%
(C) ClO, (D)ClOe-
HNO;>HSO,4 >HF >H,S
(A)NO3 >HS"
(B) SO,* > HS~
(C)HS >F~
(D)NO5 >F~

(A)[H']=5>10"M
(B)[OH ]=1><10"M
(C)[OH ]1=9><10""M
(D)[H]=1><10"*M

( H=1
(A) C,Hg
(C) SO,

C=12 N=14 O=16

$=32)
(B) NO;
(D) CO»



12.

13.

14.

15.

16.

17.

18.

19.

20.

27°C 1atm 1.79 g/L

( R =0.082 atm » L/mol « K H=10 C=12)
(A) CH4 (B) CoHy
(C) C2H6 (D) C3H8
10.0 CO(g) COz(g) 02(8)
(A)2.5 (B) 5.0 (C) 10.0 (D) 20.0
H, O, Ar Kr 500¢g
( H=1 O=16 Ar=39.95 Kr=283.8)
(A) Ar (B) H (C) Oz (D) Kr
(A)
(B)
O 1M
(D)
0.025 m 0.050 m 0.045 m
(A) < < (B) < < (C) ESES (D) < <

(A) 2NO2(g) = N2Oy(g)

(B) Zn(s) + CuSO4(aq) —> ZHSO4(aq) + CU(S)
(C) COz(g) + H20) — HaLOsagy

(D) Ag (agq) + C1 (aq) — ABC)

6
(A) CrOs; (B) PdCl,
(C) HgSOy (D) MnO,
(A) CuCl, (B) CuSOy,
(C) BaCl, (D) BaSO,

203(g) ™ 302y
1 A[O, ] =1A[02]

(A) Rate = ——
At 2 At
(B) Rate:—lA[O3] :lA[Oz]
2 At 3 At
(©) Rate = LALO:]_ 14[0:]
2 At 3 At
(D) Rate = 20:] _ A[0:]
t At

(

)



()

21 25 OC NH4+(aq) + Nozi(aq) — N2(g) + 2H20(])
Rate =k[NH, J[NO; ] [NH; 1=0.01M [NO, ]=020M
5.4>10""(M/s) M s
(A)2.7><107* (B)3.8%<10°°
(C)8.4>10°° (D) 5.4><10"’
22. A+B—-C
A(M) B(M) (M/s)
1 0.1 0.1 1.0><10"*
2 0.1 0.2 1.0<107"*
3 0.2 0.1 4.0>=10"*
(A) Rate =k[A][B] (B) Rate =k[A]*[B]*
(C) Rate =k[A]? (D) Rate =k[B]?
23. Pb** 20.7 ppm ( Pb=207)
(A)1L 1><10"°mol  Pb*"
(B)1L 20.7 g ~-PbA
(C)10L 0.1Mm0l ~ Pb?"
(D) 10L 0207 ¢ / Pb%
24. 20°C (7.5 mmHg 760 mL 20°C
(1 atm =760 mmHg R = 0:082-atm—~+E/mol - K H,0=18)
(A) 13.1 mg (B)192-mg (C) B:bg (D) 192 ¢
25. 100 mL ( CeHp) 0.20 m (CgHsCOOH )
( =0.879 g/mL £122)
(A)2.14 g (BY244 g (CY2.78°g (D) 5.69 g
26. PbClz(s) — Pb2+(aq) + 2C17(aq)

(A) K.=[Pb*"][Cl]
(B)K.=[Pb*'][CI ]?
(C) K= [Pb*'1’[CI]
(D) K.=[Pb* ’[CI ]?

27. 25°C [ CH;COOH ]=1.65><10"*M
[H']1=5.44>%<10""M [CH3COO ]=5.44><10"*M 25°C K.
(A) 5.44><102 (B) 1.65><10*

(C) 5.44><10"* (D) 1.79<10°

28. Cd(s) + NiOz(s) + 2H20(1) — Cd(OH)z(S) + Ni(OH)z(S)
(A) NiOxs) (B)

(©) (D) Ni



29.

30.

31.

32.

33.

34.

35.

36.

Sn*'(aq) + 2Fe™ (aq) = Sn* (ag) + 2Fe” (ag)
(A)
(B)
(C) Sn* (4q) + 26 — Snyy
(D) Sn* (aq) = Sn* (aq) + 26
- Zng) + Cu®’(aq 1) = Zn*(aq vy T Cugg
E°=110V  Zn*" — Zng —-0.76 V Cu*" — Cug,)
(A)—0.49V (B)0.34V O 110V (D)1.87V
a CNi(aq) +b H20(1) +cC MnO{(aq) —d CNOi(aq) +e MnOz(S) +fOH™
atb+c+d+e+f
(A) 13 (B) 12 O 11 (D) 10
2C2H2(g) + 502(g) — 4C02(g) + 2H20(1) AH° =-620 kcal/mol
CaHa g
( AHfo ( kcal/mol ) COz(g) =—-94 H20(1) =— 68 )

(A) —458 kcal/mol  (B)+ 108 keal/mol (C)108keal/mot (D) 54 kcal/mol

(A) H2O() — H2Oq)

(B) HzSO4(aq) + 2NaOH(aq) — Nast4(aq) + HzO(l)
(C) O (g) + 2Hz () — 2H3O0m

(D) 2Br(g) — Bry(g)

(A) 0. MH;PO,; 0.1 MNaH,PO,

(B) 0.1 M CH;COOH 0.1 M CH;COONa
(C)0.1 MHNO; 0.1 M NaNO;

(D)0.1 MNH; 0.1 M NH,Cl

25°C  0.500M  HCl(s) 20.00 mL 2.000M  NaOH ) 5.00 mL
[H;07]

(A) 1<10"*M (B) 1<10°M

(C)1><10""M (D) 110> M

25°C AgCls) 1.34><10 " mol/L  AgCl (Kp)
( Cl=3545 Ag=107.9)

(A) 1.80<10° " (B) 1.80><10 '

(C)9.35<10°* (D) 1.92><10°°

(

)



37.

38.

39.

40.

()

(Cly)
(A) NaCl(ag)
(B)HClg)  Bry
©) CClaqy

(D) HCl(aq) Fe(NO3)3(S)

(A)
(B)
© (N2)
(D)

(A) H;PO,
(C) NaCl

(A)
(B)
©
(D)

bj |

o)1

(B) CaCOs
(D) HCIO
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